
Multiply by Negative Powers of Ten (I)Find each product.
6.82 × 0.001 = 8.858 × 0.001 =
3.7916 × 0.1 = 1.2 × 0.001 =
1.4879 × 0.1 = 4.8 × 0.1 =
3.5466 × 0.01 = 5.49 × 0.01 =
9.6539 × 0.01 = 6.2 × 0.1 =
6.119 × 0.001 = 8.2 × 0.001 =
9 × 0.1 = 1.9285 × 0.01 =
5.2 × 0.001 = 4.6 × 0.1 =
6.518 × 0.1 = 3.967 × 0.01 =
9.8 × 0.01 = 8.3 × 0.1 =
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Multiply by Negative Powers of Ten (I) AnswersFind each product.
6.82 × 0.001 = 0.00682 8.858 × 0.001 = 0.008858
3.7916 × 0.1 = 0.37916 1.2 × 0.001 = 0.0012
1.4879 × 0.1 = 0.14879 4.8 × 0.1 = 0.48
3.5466 × 0.01 = 0.035466 5.49 × 0.01 = 0.0549
9.6539 × 0.01 = 0.096539 6.2 × 0.1 = 0.62
6.119 × 0.001 = 0.006119 8.2 × 0.001 = 0.0082
9 × 0.1 = 0.9 1.9285 × 0.01 = 0.019285
5.2 × 0.001 = 0.0052 4.6 × 0.1 = 0.46
6.518 × 0.1 = 0.6518 3.967 × 0.01 = 0.03967
9.8 × 0.01 = 0.098 8.3 × 0.1 = 0.83
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